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Ex ERCISE-19 () 
Date 

Bod the Sum of 

3at 46+ te-5a+ 3b- 6C and
a-2b- Yc 

hauh+2etlia+ 3h-6)4 
2 Yc Ha 
3atb t Hc- 5a+b-6C a 

3a-5a+a +4bt 56-2b ttc- 
Gc-c 

- at5b= a b c_ 

+2+3ahd a 
10+ 

+1 



Date 
Paga, 

-2+L 2+lL 5 5 + -2 and 3a 

-LtI+(-5+-2)+3n-3atl 
- tl-57+2-2+3 -3a+ 

-5 3a-Lt 2-3A+1-2+1 

- -20 

a-ab tbe 2ab tbC-2a and-3be t3a4 
a aabthc+ 2ahtbe- do+(-3hc +3atab) 

a-ab+hc+2ab+bc- Aa-3hc+3aab)_ 
a 2at+3a-ab+2ab tab+he +bc-3he 
a+2ah -be 

v +7- 3a - +8ad-l05 2-2a 

2 Ia+1-3a + -t&t(-lo +Sa-2a) 

24+}-3at -+8 10 tSn-2x 

- - ++8-lo-32+a+S 

3 y- =+2y and 3 thx 



Date 

3a t44-+y12+Yt5y 

5+y y 

Add the llouin9 2AreisiLONS 

ta-t 22y4(-+1S14Hy413A 

iia3yty+33a-5-34my and -[y 

n-3+2+8+3a-S-3t Yy-y 



Date 
Page 

4n-5-3 
-2lta b-2a3 b and h+26-Sat1a 

-2+a+b°-2a +b t(=Ab42b-5a4la3)_ 

a-2+atb-2a't b4 -2b +26>-5a+a3 

a-Aa'4Ma3 -26°+63+2b+a-5a+ 
b-2b 

3a b Ma -b 

3.Evaluate 

ia- la+ 2b)
3a- a 2b 
2a 2b 

n=A-3y=¥- 
2 

ii8at IS b)-(3b-ta) 
8a 4a4 15b-25 
e 15a 4 12 b 

4y)(y-3a 
29131+tyciy- 



Dete 
Page 

7-Ha-5) 
-Ya+ 5 

L6y-13) -
-9=13+ 

12 
Subtrac 

ha- 3h+2ctam a Y6-2L 

Ha-b- ac-Sa-3bt2c) 
a-Yb2-5a+3b-_Oc 
a-Sa=Yh+3b-Ac=2C

- a b-Ye 

i5-a ub+uc om 5a-1h+2C 

5a-+b+2c-5-a-ub+Yc)_ ha-th 42-5fa+Yb-Yc 
5aLa-H6+Y6+ 2c-Yc 

oa-3b-2c-5 

11 -212-(a-+2 
12+h-2- t6y-32 

32 



) Date 

-2)= 8a1ly+I2 

a-4+2y- 

y2ab + Co-aC2bd om ab-2cd t 2ac + bd 

ah-2ed +2ac tbd-(aabtcd-ac2bd 
ab cd +2at bå= 2ah- Cd tac2bd 
-ab-1ab-2cd-Cd+2acac t bd+2bd 
ob = 3cd- 3 ac 3 bd 

5 
iTake abthcCa tom bc=ca tab 
bc-ca ab)--abtbc<lal 
c Catab4ah-bc+ Ca 
eb=bé = CatCA ahtab- 

2ab 

Take 52t6y=5z fom 3a+ 5y-1z 

32t SyHz-(5a+6y-32 

3-5iSy-6=Y2+3z- 
2 

Take p+ SomP 



-fe 

P--r t2P-9,t 

-4--r+ 

2p-4- 

iv lake l-a+a fam- a-+atL 

La+a)-(1-ataL) 
a a+I4a-a 

nm the Sum of 74y 22 and Ja-y+2 Subtract AtY+2 

Sun 1 +Y-Az t2a-4+2 
A2+2 

2 

Sub3a-2)-(+ t2) 
=2 
2 2 22- 



Dato 

om the Sum_ot ba- 26+Ic and 3b2c 
Subtyat a-b-C 

Sum a-6+Ic t 3b-2c 
3a2b+3b -tHe2C 
a bta C 

Sub a [a+b 2c)-(a-b -c 
atbt C 

3a-atbtb tAc4c 
2atAb+ 3c 

3 Subtroadt --2 mm the Sum ot 3a=+2- 
and 4Y 

Sum -Y+Z+7tY-32 
4=y +2-52 

Subhat 1a-22-12y-2 
-22=A+2y+2 

=2z+7 

O. 
Sulsthaut the Sum_of 14 and A-z dom the 

Sum oP 7-22and 1tj+1 

Suboo A*q -Z 



Deta 
Page 

ti -2+2-+ 

SulstratE 

2-aZ+2- 
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